
UA - 2

ÖA - 2.1.

UA - 2

İLK

Hmaks=12.50
E=1.00

1000

7

00

7

10

00

00

00

00

007

007

1500

7

10

10

700

E=0.60

Hmax=10.50

5

5

5

5

5

5

Yençok=18.50

Yençok=18.50
E=0.95

Yençok=18.50

E=0.90

E=0.90

E=1.00

Yençok=12.50
E=1.00

0012

12

12

00

15

00

00
15

00

PARK

PARK

PARK

PARK

T
5

5

5

5

5

5

E=0.60
Hmaks=12.50

E=0.60
Hmaks=12.50

E=0.60
Hmaks=12.50

E=0.60
Hmaks=12.50

E=0.60
Hmaks=12.50

E=0.60
Hmaks=12.50

Yençok=12.50
E=1.00

5

5

KDKCA

E=1.00
Yençok=12.50

0012

1000

TA

TA

TA

TİCK

5

5

5
5

5

5

5

5

5

5

5

5

5

TA

TA

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5


